= A
A & O &8 A & Ml M
20148 = Z 0 & LA AT A
SH ST A
HMa: oiel, 2el, 320l YHUE #gsd x4
Crol: MHSA HYSMRR XA (S &2)
= - — L=
SA B ER(EN) - AR - BES of & o4 San HIDZ2
TP A 2,161,118 4,028,079 A 1,866,961
= 226,526
= 1,934,592
Hiel, 23, E2Hcl MU= dHLEE =d 834,990 2,755,308 A 1,920,318
= 226,526
< 608,464
NS EL = aTE o 261,888 262,488 A 600
= 36,526
< 225,362
SN N =0 225,362 225,962 A 600
101 1244l 37,512 28,580 8,932
04 JIANZ2E2XNSES 37,512 28,580 8,932
OANMEN AMEEX %L FAFEH S 37,512
201 fEt2E | 16,800 16,800 0
03 A2 16,800 16,800 0
OW - o= S2YF AL & 20X SX S 16,800
206 TH 2 HI 170,000 170,000 0
01 M= Hl 170,000 170,000 0
OU -oi+=8 A2l WY S 170,000
301 €EtE A= 1,050 10,582 A9,532
09 EANEHIESS 1,050 1,050 0
Oxdus2ad FANEY 1,050
EM0S Ao F = 36,526 36,526 0
= 36,526
206 M =8l 36,526 36,526 0
& 36,526
01 M= dl 36,526 36,526 0
OEMUS NUHYF(5T) 36,526
= 36,526
5ot AMHESE AEAFME 147,562 168,630 A 21,068
ASSHLY L ANSEMSET &5 147,562 168,630 21,068
101 @l H] 37,512 28,580 8,932
04 DIt 22 XS+ 37,512 28,580 8,932
OANBOAEEX & FAE Fil 37,512
201 LBt2 19,600 19,600 0
01 At 22l bl 19,600 19,600 0
Oda & MHFEDM 22t S 19,600
203 222l 2,850 2,850 0
03 Al =P R=AHI 2,850 2,850 0
O+eeTgeRa 2,850




SH ST A
HMa: oiel, 2el, 320l YHUE #gsd x4
S SS6t0 XNESE AgHFAHYE (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
204 & 2 4= A H| 9,600 9,600 0
03 SHYRAHI 9,600 9,600 0
Ooel g = 9,600
206 M = Hl 15,000 15,000 0
01 X2 Hl 15,000 15,000 0
OUW+HAIEE S&S s 15,000
207 AT OH £ 45,000 60,000 A 15,000
03 AIE A 32| 45,000 60,000 A 15,000
OW -dll=™H AIEHR M= 45,000
405 XHo&HF S HI 18,000 33,000 A 15,000
01 JHAHY 2 E F S H 18,000 33,000 A 15,000
OMEHEE M2HdED(1H/HE=H) 2,000
OseiXl A 2=EDT (10 /o) 3,000
ODIEZX £2A=H)| 2 (2 /ol 4=91) 6,000
OSE22 EXNEIO AlAEEY 2 (14 /ol 2%
o) 7,000
ANEHZT A2 OHFEAN X & 425,540 2,324,190 A 1,898,650
= 190,000
== 235,540
HAF Y CEAEE 222 425,540 2,324,190 A 1,898,650
= 190,000
& 235,540
201 Bt A H| 155,000 155,000 0
02 332494l 155,000 155,000 0
Oxg & HH S EHI 56,000
OANAEZHI S (=2l)d] 21,000
OMNES £ ANRAASH| 78,000
401 Al HIL 201 270,540 2,169,190 A 1,898,650
= 190,000
o= 80,540
01 Al& H| 268,632 2,161,990 A 1,893,358
OWSHAEZ HES(H=H) 188,632
= 188,632
OBI| AMEWHM S(Uz=H) 20,000
O0E & E2 MAIA cl2dal () 15,000
OdgtatA MEYT & 2320 AX(Wx=H) 20,000
OFAMN JIHES BELZAHMNE=H) 15,000
OXdtE 238 BAH(H£=H) 10,000
03 Al& 201 1] 1,908 7,200 N5, 292
OFAF & ZtAF 2122 (LHESH) 540
OWEHAEZE HES(H=H) 1,368
= 1,368
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